W oen 137.1 b (13 TeV)

—_ T TTT ‘ L ‘ L ‘ L ‘ L ‘ L ‘ LB ‘ LB ‘ LB
glo3 é —— A=A1'=001 E
@ \nary — A=A'=01 ]
X - i
o 102 = 95% CL limit

= === Median expected limit

B :isa
[ J:2sa

Ll

10

T TTTTI]]
i

[

T
Ll

S

107 E
1072 —
& 11 I 1111 1 1111 1 1111 1 1111 1 1111 (- 1 1111 1 1111 1 1111
500 1000 1500 2000 2500 3000 3500 4000 4500 5000
m; (GeV)
.
W _er 137.1 fb* (13 Tev) TR 137.1 b (13 TeV)
{YTTY{YYTT{YTTY{YYTT[YTTY[YTTY[TTYY[YTYY YYlTYY{YYYT{YYYT‘TYYT‘TYYY‘TYYY[YYTY[YYTT‘YYTT
— A=\"=0.01 E| = A=A"=0.01 é
nary A=r=01 Prelitiinary N 3
= 95% CL limit = 95% CL limit —
= = == Median expected limit E = = = = Median expected limit ;
B :isa B 10; B :isa ]
[ J:2sa 3 E [ J:2sa 3
= 1= =
107 =
102 = 102 —
= I B I D B N T N P, S I I P I B L NP D B B,
500 1000 1500 2000 2500 3000 3500 4000 4500 5000 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
mg (GeV) my (GeV)
" "



